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1. Answer the following :

(a) From which words has
‘sociology’ been derived?

1x5=5

the term

(b) Who coined the term ‘primary group™?

(c) Mention the two conditions of social

interaction.

(d) Who introduced the word ‘cultural lag’?

(e) When did the Right of Children to Free
and Compulsory Primary Education Act

come into force?

2. State True or False :

1x5=5

(@) Emile Durkheim said that, “School is a

miniature society”.
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(b)

(c)

(2)

The two main types of social control are
formal social control and informal social
control.

Social change is a - universal
phenomenon.

(d) Ogburn introduced the term ‘folkways’.
(e) Culture is an acquired qﬁality.
3. Answer very briefly : _ " 2x5=10
(a) Explain the meaning of socialization.
(b) Write the meaning of ‘social group’.
(c) Mention two characteristics of social ¥
: change.
(d) What are folkways?

(e) Mention two ways of preventing social
disorganization. '
4. Answer the following (any four) : 5%4=20
(a) Explain the" five types of social

(b)

interaction.

Discuss five main characteristics of
secondary group.
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(3)

() Explain the main causes of social
disorganization.

(d) Write the five main characteristics of
culture.

(e) Discuss the impact of Westernization in
India.

() Write the signiﬁcance of Minimum
Development Goal in regard to
education. ;

5. Explain the relationship between education
and sociology. Discuss the scope of
educational sociology. 4+6=10

Or

What do you understand by leadership?
Discuss the role of school in providing -
leadership . training. t 4+6=10

6. “Education is a social system.” Elucidate the
statement. Explain how education can help
- in promoting social control. 545110

Or

Define social change. Explain how education
can bring about social change in India.

2+8=10

7. Define ‘mores’. What are the educational
implications of folkways and mores? 2+4+4=10
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(4)

Or

What do you mean by modernization?
Explain how education can make India a
modern country. 4+6=10

What are the causes of imbalance in
education in India? Why is it important to
provide educational opportunities to all?

5+5=10
Or .
What is meant by ‘child labour’? Explain the
causes of child labour in India. 2+8=10
* A *
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